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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the methods of measurement of National 

Income. What difficulties are faced in measuring 

National Income ? 

jk”Vªh; vk; ekiu dh fofHkUu fof/k;ksa dks le>kb;sA jk”Vªh; 

vk; eki esa D;k dfBukb;k¡ lkeus vkrh gSa \ 

2. Explain the Classical theory of employment. On what 

grounds was it challenged by Keynes ? 

jkstxkj ds izfrf”Br fl)kUr dh O;k[;k dhft,A dhUl us 

fdu vk/kkjksa ij bls pqukSrh nh gS \ 

3. “Trade cycle is a purely monetary phenomenon.” 

Critically examine this statement of Hawtrey. 

ßO;kikj pØ ,d fo’kq) ekSfnzd ?kVuk gSAÞ gkVªs ds bl 

dFku dk vkykspukRed ijh{k.k dhft,A 

4. Explain the objectives and methods of credit control 

policy of Reserve Bank of India. 

Hkkjrh; fjtoZ cSad dh lk[k fu;a=.k uhfr ds mís’; ,oa 

fof/k;ksa dh O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between Gross Domestic Product and Net 

Domestic Product (GDP and NDP). 

ldy ?kjsyw mRikn ,oa ‘kq) ?kjsyw mRikn esa foHksn dhft,A 

2. Differentiate between Autonomous and Induced 

Investment. 

Lok;Ÿk ,oa izsfjr fofu;ksx esa foHksn dhft,A 

3. What is the correlation between Inflation and 

Economic development ? 

eqnzk LQhfr ,oa vkfFkZd fodkl esa D;k lglEcU/k gS \ 

4. Interaction of Multiplier and Accelerator (Super 

Multiplier). 

xq.kd rFkk Rojd dh vUrfØZ;k ¼egkxq.kd½A 

5. Demand for money regarding speculative motive. 

lêk mís’; ds fy, eqnzk dh ek¡xA 

6. What are the limitations of monetary policy ? 

ekSfnzd uhfr dh lhek,¡ D;k gSa \ 

7. Determinants of Consumption Function. 

miHkksx Qyu ds fu/kkZjd rRoA 
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8. What are the main features of Adam Smith‟s theory of 

development ? 

,Me fLeFk ds fodkl ds fl)kUr ds eq[; y{k.k D;k gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct answer-option in the following : 

fuEufyf[kr iz’uksa esa lgh mŸkj&fodYi fpfUgr dhft, % 

1. Net Domestic Product (NDP) is equal to : 

(a) GDP minus Foreign Aid 

(b) GDP minus Depreciation 

(c) GDP minus Total Tax 

(d) GDP minus Indirect Tax 

‘kq) ?kjsyw mRikn ¼,u- Mh- ih-½ cjkcj gS % 

¼v½ th- Mh- ih- ?kVk, fons’kh lgk;rk 

¼c½ th- Mh- ih- ?kVk, ewY; kl 

¼l½ th- Mh- ih- ?kVk, dqy dj 

¼n½ Tkh- Mh- ih- ?kVk, vizR;{k dj 
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2. Which economist gave the concept of Investment 

Multiplier ? 

(a) Keynes 

(b) Hicks 

(c) Marshall 

(d) Kahn 

fuos’k xq.kd dh /kkj.kk fdl vFkZ’kkL=h dh nsu gS \ 

¼v½ dhUl 

¼c½ fgDl 

¼l½ ek’kZy 

¼n½ dkgu 

3. Whose model of the following economists makes use 

of the stock adjustment principle to explain business 

cycles ? 

(a) N. Kaldor 

(b) J. R. Hicks 

(c) P. Samuelson 

(d) J. M. Keynes 

O;kikj pØksa dh O;k[;k djus ds fy, fuEufyf[kr esa ls 

fdl vFkZ’kkL=h us LVkWd lek;kstu fl)kUr dk mi;ksx 

fd;k gS \ 

¼v½ ,u- dkYMksj 

¼c½ ts- vkj- fgDl 

¼l½ ih- lSE;qYvlu 

¼n½ ts- ,e- dhUl 

4. The point of interaction of aggregate supply curve and 

aggregate demand curve is known as the point of : 

(a) Excess demand 
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(b) Deficient demand 

(c) Effective demand 

(d) Aggregate demand 

dqy iwfrZ oØ ,oa dqy ek¡x oØ ds vkilh lfEEkyu ds fcUnq 

dks fuEu :i esa tkuk tkrk gS % 

¼v½ ek¡x vfrjsd 

¼c½ ek¡x dh deh 

¼l½ izHkkoh ek¡x 

¼n½ lexz ek¡x 

5. Which of the following statements is true for 

consumption function propounded by Keynes ? 

(a) Consumption increases in equal amount as 

income rises. 

(b) Consumption increases in proportional amount as 

income rises. 

(c) Consumption increases faster than income. 

(d) Consumption increase slower than income. 

fuEufyf[kr esa ls dkSu&lk ,d dFku dhUl ds miHkksx 

Qyu ds fy, lR; gS \ 

¼v½ vk; c<+us ds lkFk miHkksx leku ek=k esa c<+rk gSA 

¼c½ vk; c<+us ds lkFk miHkksx vkuqikfrd :i esa c<+rk gSA 

¼l½ miHkksx esa o`f) vk;&o`f) ls rhoz gksrh gSA 

¼n½ miHkksx esa o`f) vk;&o`f) ls de rhozrk ls gksrh gSA 

6. Who among the following economists has coined the 

concept of „Inflationary Gap‟ ? 

(a) Keynes 
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(b) Fisher 

(c) Johnson 

(d) Brooman 

fuEufyf[kr esa ls fdl vFkZ’kkL=h us ^LQhfrd vUrjky* ds 

izR;; dks uke fn;k Fkk \ 

¼v½ dhUl 

¼c½ fQ’kj 

¼l½ tkWulu 

¼n½ czweSu 

7. Increase in price and unemployment simultaneously is 

called : 

(a) Inflation 

(b) Stagflation 

(c) Deflation 

(d) None of these 

tc csjkstxkjh vkSj dhersa ,d lkFk c<+rh gSa] mls dgrs gSa % 

¼v½ eqnzk LQhfr 

¼c½ LQhfr;qDr xfrghurk 

¼l½ eqnzk ladqpu 

¼n½ buesa ls dksbZ ugha 

8. M/KT is an equation of : 

(a) Pigou 

(b) Robertson 

(c) Marshall 

(d) Keynes 

lehdj.k M/KT fdlls lEcfU/kr gS \ 

¼v½ ihxw 
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¼c½ jkWcVZ~lu 

¼l½ ek’kZy 

¼n½ dhUl  

9. Who gave Loanable funds theory ? 

(a) Prof. Wicksel 

(b) Ricardo 

(c) Fisher 

(d) Marshall 

_.k ;ksX; dks”k fl)kUr dks fdlus fn;k gS \ 

¼v½ izks- fodlsy 

¼c½ fjdkMksZ 

¼l½ fQ’kj 

¼n½ ek’kZy 

10. Which of the following is not the method of measuring 

national income ? 

(a) Production method 

(b) Income method 

(c) Expenditure method 

(d) Investment method 

fuEufyf[kr esa ls dkSu jk”Vªh; vk; ekius dh fof/k ugha gS \ 

¼v½ mRiknu fof/k 

¼c½ vk; fof/k 

¼l½ O;; fof/k 

¼n½ fofu;ksx fof/k 
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